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3.6 Polynomials of the Form ax? + bx + ¢

solutions on next page

Page 177
Questions: 13
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p
13. Factor. Check by expanding. @

a) 27° + 5y + 2 b) 24 + 1la+ 12
2a’ + 8a +3a +12
2y> + 4y +1y +2
N N (2a” + 8a )+(3a +12) pa
(2y* + 4y )+(1y +2)
2a(a +4 )+ 3(a +4)
2y(y +2 )+ 1(y +2)

[ v+2)ey+1 ) (4123 ]

¢) M2+ 13k + 15 d) 2m? — 1lm+ 12
2k* + 10k +3k + 15 2m?-8m -3m + 12
(2K? + 10k )+(3k + 15) (2m? -8m )-(3m + 12)

L(k+5)(2k+@ E(m-4)(2m-3)
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Factoring By Asterisk Method
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https://youtu.be/WwbteAIqUlY
https://youtu.be/5vuAg1RzmsY
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3.6 Polynomials of the Form ax? + bx + ¢

Work sheet
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Check 1) GCF EXtra praCtice

2) Simple Trinomial

3) Hard Trinomial
Math 10B Name

Factoring: Hard Trinomials Date

Factor each completely.

1) 6m° +2m—8 2) 3x° —16x+5

3) 28° — 116r + 16 1) 2° =17 -9

5) 3 +2r— 16 6) Sa° —34a+45

7) 8x* —50x + 50 8) 4n’ — 15n+9

9) 4x* +17x+4 10) 4m” + 13m + 10
11) 45° —35-10 12) 8n° —26n—24
13) & + 16uv + 64v° 14) 2x° — 225y + 4837
15) x* — 11xy +30p° 16) 4a° — 8ab — 12b°

Answers to Factoring: Hard Trinomials (ID: 1)

1) 2(3m+4)(m—-1) 2) (3x—1)(x-3) 3 47 -1)r—4) 4 (2n+1)(n-9)
5 (3r+8)(r—2) 6) (5a—9)a-3) 7 2(x—5)4x-3) 8 (n—3)4n-3)
9 (x+4)4x+1) 10y (m + 2)(4m + 5) 11) (5 -2)(45 +3) 12) 2(n—4)(4n +3)
13) (u+8v)? 14) 20x-8p)x -3y  15) (x—35p)(x - 6y) 16) 4{a—3b)a+5)
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